
Page 1 of 4 

 

 

 

 

Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2019 

Subject Name : Operating Systems 

Subject Code : 2TE03OSC1         Branch: Diploma(CE)   

Semester : 3       Date : 18/03/2019         Time : 2:30 To 5:30                  Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  A Process is known as __________. 

(A. program in secondary memory     (B. program in cache memory 

(C. program in loop                             (D. program in execution. 

 

 b)  To access the services of operating system, the interface is provided by 

the_________.(A. System calls   (B. API      (C. Library    (D. Instruction 

 

 c)  In Unix, Which system call creates the new process? 

(A. fork                 (B. create                      (C. new          (D .All above 

 

 d)  A Collection of Different Instruction is called _________. 

(A. Program.          (B. Process.  (C. Both A and B.  (D. Hardware. 

 

 e)  Semaphores are used to solve the problem of_________. 

(A. Race Condition.          (B. Process Synchronization. 

(C. Mutual Exclusion.          (D. Both B and C. 

 

 f)  What is the use of echo Command in UNIX? 

(A. Rename a File.  (B.Copies a File. (C.Display Msg. (D.Remove a File. 

 

 g)  Which of the following is not the state of a process? 

(A. New           (B. Waiting             (C. Old            (D. Running 

 

 h)  Time quantum is defined in_______ algorithm. 

(A. Round Robin     (B. SJF         (C. Priority         (D.FCFS 

 

 i)  For a deadlock to arise, which of the following conditions must hold 

simultaneously? 

(A. Mutual exclusion (B. No preemption (C. Hold and wait (D. All above 

 

 j)  The file system “NTFS” stands for…. 

(A. New type file System                (B. New Technology file System 

(C. Never Terminated File System (D. Non  Terminated File System 

 

 k)  In which type of OS, response time is very important? 

(A. Batch           (B. Network     (C. Real Time    (D. Unix 

 

 l)  Operating System manages________. 

(A. Memory      (B. Processor   (C. I/O Devices    (D. All above 

 

 m)  Command Interpreter is also known as____. 

(A. Prompt        (B. shell     (C. command     (D. Dos Prompt 

 

 n)  Which scheduler select which processes should be brought into the ready 

queue? 
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(A. Long Term   (B. Short Term  (C. Medium Term     (D. Real Term 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a. Explain different view of operating system.  

 (b. Explain following terms: 1.Context switch 2.Thread 3.Process 

Scheduling. 
 

    

Q-3  Attempt all questions (14) 

 (a. What is memory manager (management)? Why it is required? Explain its 

operation. 
 

 (b. Write short note on paging.  

    

Q-4  Attempt all questions (14) 

 (a. Explain different services provided by operating system.  

 (b. Write short note on different types of Schedulers.  

    

Q-5  Attempt all questions (14) 

 (a. Explain process lifecycle.  

 (b. Explain different condition for Deadlock.  

    

Q-6  Attempt all questions (14) 

 (a. Explain multiprocessing and multiprogramming operating system in 

detail. 
 

 (b. Find out average waiting time and average turnaround time using FCFS.  

  

 

 

    

Q-7  Attempt all questions (14) 

 (a. Write short note on file structures.  

 (b. Explain following terms:  1. Cryptography 2.Spoofing 3.Trojan Horses 4. 

Viruses 5.Worms 06. Spyware 07. Firewalls. 
 

    

Q-8  Attempt all questions (14) 

 (a. Explain following words:  First fit, Best fit, Worst Fit, TLB, internal 

fragmentation and external fragmentation. 
 

 (b. Explain Resource and resource allocation graph.  
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Q-1  Attempt the following questions: (14)  

 a)  પ્રક્રિમા __________ તયીકે ઓ઱ખામ છે. 
(એ. પ્ર૊ગ્રાભ સેકન્ડયી ભેભયી     (ફી .કેભેયા ભેભયીભાાં પ્ર૊ગ્રાભ 
(સી. પ્ર૊ગ્રાભ ઇન લ઩ુ            (ડી. એક્ઝેક્યળુનભાાં પ્ર૊ગ્રાભ. 

 

 b)  ઑ઩યેક્રટિંગ સસસ્ટભની સેલાઓને ઍક્સેસ કયલા ભાટે, ઇન્ટયપેસને_________ 
દ્વાયા પ્રદાન કયલાભાાં આલે છે. 
(એ. સસસ્ટભ ક૊લ્સ    (ફી. API      (સી. રાઇબ્રેયી       (ડી. સચૂના  

 

 c)  યસુનક્સભાાં, કઈ સસસ્ટભ ક૊ર નલી પ્રક્રિમા ફનાલે છે? 
(એ. પ૊કક     (ફી. ફનાલ૊.     (સી. નલી     (ડી .ઉ઩ય ફધા  

 

 d)  સલસલધ સચૂનાઓન૊ સાંગ્રહ _________ કહલેાભાાં આલે છે. 
(એ પ્ર૊ગ્રાભ.            (ફી. પ્રક્રિમા. 
(સી. એ અને ફી        (ડી. હાડકલેય. 

 

 e)  સેભપ૊સકન૊ ઉ઩મ૊ગ_________ ની સભસ્માને હર કયલા ભાટે થામ છે. 

(એ. યેસ સ્સ્થસત.       (ફી. પ્રક્રિમા સસિંિનાઇઝેળન. 
(સી. મ્યચુ્યઅુર ફાકાત.   (ડી. ફી,  સી  

 

 f)  યસુનક્સભાાં ઇક૊ કભાન્ડન૊ ઉ઩મ૊ગ શુાં છે? 

(એ. એક પાઇર નાભ ફદર૊. (ફી. એક પાઇર કૉસ઩ કયે છે. 
(સી. સાંદેળ દળાકલ૊.         (ડી. એક પાઇર દૂય કય૊. 

 

 g)  નીચે આ઩ેરાભાાંથી કઈ પ્રક્રિમાની સ્સ્થસત નથી? 
(એ. ન્ય ૂ   (ફી. લેઇક્રટિંગ   (સી. ઓલ્ડ     (ડી. યસનિંગ 

 

 h)  નીચે આ઩ેરાભાાંથી કઈ પ્રક્રિમાની સ્સ્થસત નથી? 
(એ. ન્ય ૂ(ફી. લેઇક્રટિંગ (સી. ઓલ્ડ (ડી. યસનિંગ 

 

 i)  ઊબી થલા ભાટેના ડેડર૊ક ભાટે, નીચેનાભાાંથી કઈ ળયત૊ એક સાથે હ૊લી જ૊ઈએ? 

(એ. મ્યચુ્યઅુર એક્સક્લઝુન (ફી. ન૊ પ્રામભળન (સી. હ૊લ્ડ અને યાહ જુઓ 

(ડી. ઉ઩યની ફધી 

 

 j)  પાઇર સસસ્ટભ "એનટીએપએસ" ન૊ અથક .... છે. 
(એ. નલી પ્રકાય પાઇર સસસ્ટભ      (ફી. નલી તકનીકી પાઇર સસસ્ટભ 
(સી. ક્યાયેમ સભાપ્ત પાઇર સસસ્ટભ    (ડી. બફન સભાપ્ત પાઇર સસસ્ટભ 

 

 k)  કમા પ્રકાયનાાં ઓએસ, પ્રસતબાલ સભમ ખફૂ જ ભહત્લપરૂ્ક છે? 

(એ. ફેચ (ફી. નેટલકક (સી. યીઅર ટાઇભ (ડી. યસુનક્સ 

 

 l)  ઑ઩યેક્રટિંગ સસસ્ટભ શુાં ભેનેજ કયે છે? 

(એ. ભેભયી (ફી. પ્ર૊સેસય (સી. આઇ/ઓ ક્રડલાઇસીસ (ડી. ફધા ઉ઩ય 

 

 m)  આદેળ ઇન્ટયસપ્રટયને ઩ર્ ____ તયીકે ઩ર્ ઓ઱ખામ છે. 

(એ. પ્ર૊મ્પ્ટ   (ફી. ળેર    (સી. કભાન્ડ    (ડી. ડૉસ પ્ર૊મ્પ્ટ 

 

 n)  કમા ળેડયરૂય ઩સાંદ કયે છે તે તૈમાય કતાયભાાં કઈ પ્રક્રિમાઓ રાલલાભાાં આલે છે?  
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(એ. રોંગ ટભક (ફી. ળ૊ટક ટભક (સી. ભધ્મભ ટભક (ડી. યીઅર ટભક 
Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a. ઑ઩યેક્રટિંગ સસસ્ટભ સલળે જુદા જુદા વ્ય ૂ સભજાલ૊.  

 (b. નીચેની ળબ્દ૊ સભજાલ૊: 1. ક૊ન્ટેક્સ્ટ સ્લીચ 2. થે્રડ 3. પ્ર૊સેસ ળેડયબુરિંગ.  

    

Q-3  Attempt all questions (14) 

 (a. ભેભયી ભેનેજય (ભેનેજભેન્ટ) શુાં છે? ળા ભાટે આલશ્મક છે? તેની કાભગીયી સભજાલ૊.  

 (b. paging ઩ય ટૂાંકા નોંધ રખ૊.  

    

Q-4  Attempt all questions (14) 

 (a. ઑ઩યેક્રટિંગ સસસ્ટભ દ્વાયા પયૂી ઩ાડલાભાાં આલેર સલસલધ સેલાઓ સભજાલ૊.  

 (b. સલસલધ પ્રકાયના ળેડયરુય ઩ય ટૂાંકા નોંધ રખ૊.  

    

Q-5  Attempt all questions (14) 

 (a. પ્રક્રિયા જીવનચિ સમજાવો.  

 (b. ડેડર૊ક ભાટે અરગ સ્સ્થસત સભજાલ૊.  

    

Q-6  Attempt all questions (14) 

 (a. ભલ્લ્ટપ્ર૊સેસસિંગ અને ભલ્લ્ટપ્ર૊ગ્રાસભિંગ ઑ઩યેક્રટિંગ સસસ્ટભની સલગતલાય સલગત આ઩૊.  

 (b. એપસીએપએસન૊ ઉ઩મ૊ગ કયીને સયેયાળ યાહ જ૊લાન૊ સભમ અને સયેયાળ ટનકએયાઉન્ડ 

સભમ ળ૊ધ૊. 

 

  

 

 

    

Q-7  Attempt all questions (14) 

 (a. પાઇર ભા઱ખા ઩ય ટૂાંકા નોંધ રખ૊.  

 (b. નીચે આ઩ેર ળબ્દ૊ સભજાલ૊: 1. ક્રિપ્ટ૊ગ્રાપી 2. સ્પકૂ્રપિંગ 3. ટ્રઝન હ૊સક 4. લામયસ 5. લ૊મ્સક 06. 

સ્઩ામલેય  7. પામયલૉલ્સ. 

 

    

Q-8  Attempt all questions (14) 

 (a. નીચેના ળબ્દ૊ સભજાલ૊: પ્રથભ ક્રપટ, શે્રષ્ઠ ક્રપટ, સોથી ખયાફ પીટ, ટીએરફી, આંતક્રયક 

સલબાજન અને ફાહ્ય સલબાજન. 

 

 (b. સાંસાધન અને સાંસાધન પા઱લર્ી ગ્રાપ સભજાલ૊.  

 


